[ B=1 =% |

FEMZEDIRERNRE

ek HEAER

4 THOFEEREEEBFENEESFMHYRS



FEME (REANRRK)

8 SHEERERESRNESSEWHNES

[#st2 GEREMR)

2 F HE &4 e
E R
1= 62, 973, 300
ERSHYED
1= 62,973, 300
ERSHYED
1= 62, 973, 300
EREALE EESHNEBD 24 05, BESHDEBH 24. 008, 7TAE 48,008, K - @& 1,00
1= 57, 649, 680
ERES SHASE 1.0%, BEHEAEE .0, (BRADEEHSSUEERS . 0%, XBARS 1.0
1= 5, 323, 620




FEME (EREEE)

8 SMEEREESRNEEFTHIES

[#zt3 (Emas |

B e £4 iR
EERME
1= 62,973, 300
EEAGE
1= 57, 649, 680
HERE
1= 5,323, 620
Z Dt R {E
1= 24,708, 652
EREM
1= 87, 681, 952
—REEES
1= 47,208, 048
ES AT
1= 134, 890, 000
¥ E I EMHE
1= 134, 890, 000




